Efficiency vs P,

0.1

0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02
0.0

Ja)

VS

[y

......... 4

1

10

—=— DQM_mKkFit_time
—e— DQM_mkFit_time_b1
—— DQM_BDT_mkFit_time

0.5

0.45
0.4
0.35
0.3
0.25
0.2

................................................

...................................

Vs

L AR SITTRURLE 1 RSN O

0.4F bt yilivdy- .

0.05 w{- SR o ol | SR SR
LA L PR P

H
T
H

0.95

Efficiency vs ¢

0.2

0.18
0.16)
0.14
0.12

0.1
0.08
0.06)
0.04
0.02

T]

TT-

.!.'.'..'.!.'.'..'.!.'.'.!.!.'.'.!i.'.'.!.].

0

........

........

FRVS)

et

0.95

4 -

e

b4 -

LB R R
optt L
g -
+
T




	Contents
	Page 1


